Seat No. : 2,‘224 i

DG-103

December-2022
B.Com., Sem.-I1l
SE-202 (A) : Corporate Accounting

Time : 2% Hours] [Max, Marks : 70
Lo &l (@B s el 31/3/2022 Aoy wig A3 A2 Horon 8 : 14
Qa1 AW | T
[ SEA2l 2 3l :
(1) ARSLESRAL FLSL
(R1) WAL :
| €35 T 10l dall §621 AR YR CRI]E 6,25,000
€35 T 10l dell 10% U4 AR, YRL GRIAE 5,75,000
(01) Al A QHURL :
AU 2AA1H 2,00,000
Ag1- 453l Hid, 1,00,000

—— e mr

2) (G- gal: |
() @ledtni-l Gl el : |

15%-Al Bel=1R, €35 T 100 dell | 6‘35‘0{}(};
(o) Lo RUAL e
Mllds2 & 100000
(3) wWe gal: |
() AURL Bl ; |
ARIEIRL ; 4,85,000
| Bellgd] o 20,0001
() A G Bl : Ysaalll osl Wy t i 7’500%
i 5@ 12737500

DG-103 1 P.T.O.



_!Il.- Blasdl : |
() By Besd |
(1) sl Mesdl -
| (1) e [(Masdl
oyl 5,05,000
i' ALE : ERARL 25,000 - 4,80,000
; 41l 8,65,000
| olls : UARL 1,45,000 7,20,000
g{RAR 50,000
ALE : HAUIRL 12,500 37,500
(i) e Rasdl : weadl 37,500
(@) (G ug RS : |
10%-{l ARSI AHIAIRIRA (AU S §$ ARAL A5130) 1,00,000
10%-L (Qye [@f2s-L Rol=z (6L 5. 7 2,50,000) 2,25,000
| (5) Y (G- Masdl : s vl 7,500
@) wg Reasd: ;
| () Hie uHA : 25 3,80,000
| (G) AURL AL : |
| ISR 6,00,000 |
| (-) BUEALE AAHC 35,000 5,65,000
' Aellssll 1,10,000
| (5) RAS A UASS UHIA : A5 [Riats 60.000
(8) 2t A Pesdl: 20U 5de wa 15,000
l §a 27,37,500
QeR1{l HURA] : |
(1) ol d2u 23l el var %ﬂn A4 ¥ 7,20,000 244 T 5,40,000 . WuR ougl-l)
Fasdl2ng salde Bud aqadl .
(2) 29 HsRALMHL sl fw’lﬂl 241 30% QW RRASs A4l $ulri AzAL olvzele a-l
RABHSALARLS. .
(3)150%, & 536UE SUlL WESIAL SU-lAl Beett A0 AL A8l deu Buori Aay NETRNE

DG-103

AR HY A 6

oy 45 (3) GIR
2019-20 2.00.500 ]
2020-21  2.11,000 2
2021-22  2.47.000 3

Bur-l [idl Rl Beat AL AL g1l cuRd R 22134 SGE|
QR ML WRIEA AR AR el Bud sl 6.

Y|

Sl AR g1

2



(A) NEAL DA Hororfl Wl w6

(B)

2. Hy

(i)  §4RBasdl
(i) & Bal
(i) 15%-{l Ngret AH

(iv) BlAses agduiul el w3zia ufls 51
(V) B ARl €2

GEuReAL [dotel vrell 241 A5l Y501l wgcell el gLLvL.

ARAL (o1l wRell Sul-l set Brasdi-Al iRl 531 :
i) s gl 5 Al WREAL 2R wiEdl
(i) UL s 5]

(iii) o8l gal

(iv) MaA WH

(V)  AHUBd 4Rl €R

[RURIR S, cll. 31/3/2022+ v, Wi A AR Hored 69

(a1 -
32 FA ‘Dt:l‘ﬁq'l -
(1) ELesRAL CLSLNl 2

(1) WAL
SEAZL AR €35 T 101 A4l T 8 ¢HRUS
10% g4 AR HIL &35 T 10l Al
(01) AAHA A ARIRL :
UL 2AHA
@) Bri-2Ue 8al:
() AlGRLLIAL B4l :
10%-L 301~z
(3) W Bdl:
() AURL Bl :
ARIEIRL

5@

Ale

T 36,55,000
2 5.95.000
< 3,40,000
T 5,61,000

15%

Z2,62,500
Z 3,15,000
Z 7,00,000
Z 3,50,000

15%

16,00,000
10,00,000

12,00,000

10,00,000

8,00,000
56 00, 000

DG-103

] -u—n—

14



— g
m—r — e m & . S e

I Masdl:
(1) [G-ug Measd :
) sl Fasdl

(1) ey [(Hasdl

14 10.00.000

5213 3,00.000

e 24.00.000 |

() A (G-, Measdl - _ |

WHS Wl 2.00:000

2) WY Masdl: ‘

() HaxHAl : 08 | 3.00.000§
(o) UL Al : |

g XL | - 4.00.000

AellgstAl | 2.00.000

(5) RS A USS UHIA : olrs e | ~3,00,000

s | 56,00,000

LRI HURd] ;
(1) sutll Basdidl adr Bud ol il
(2) Sl Hel Yl A He L AU B A0ARALER 10% €.
3) sS4l el BHa T 11,70,000 2L .
(4)  50% AW 53331 AAlE $UL 41l Sl AL ANl URRILL 51 T 12.00,000 5.
(3) el AL Nl 53331 GUE SULUESIHL ASIHE25% SUAL ER AN UL AARMA WId S WA .
Gzl (Qatdl w2l s4AlL A2l ARAL dlovodl BHd 2=l
Y
(A) AL (o1l w2l ol UsRAL EE2] Az, 01z e Wl -

(i)  £Bd2l WwHdl:

A =T 10041215 211 T 80 AW ¢RI 2AA 5,000 $632] AR T 4.00,000
B <% 1004245 2Adl yz1 6u1E 7,500 S632) R % 7.50,000
(i) A0%-l Ug1 LR Hl T 3.00,000
(i) 50% SRARMSELAL AR 51 (ASLSUAL 4 T 25.000 WRA) Z 2.50.000
(VI AL AN ARAL €3 10%

e syl eulest Horot T 62,500 IR AR WA A Yl 8.
(B) 154t €137 WAL 2AidRs Erd-l 2e1d3] 53) -

00 245 24l 13,500, 6%l U~ AR, YY1 U1

Z 101 A5 AL YRR 1,35.000 SGI2) 2

AlEL 4L T 2,25,000
H$HE] A4 % 1.05,000
2 2lds Hasdl Z10.500
sl 2 g Masdl % 30,19.500

DG-103 4



3. SIEMOLGlHL ol AL - 14

E

DG-103

5L AL Bl At [BL AL LSS 5. AL 31/3/2022AL 3097 AArstl Aot oie sredl 4 sl
Alrt WIAMHL T 11.25.0004L Bt 25+ oisledl d o 254 4= AL 31737202240 =3¢
WAL Al i, 05 12.5% Ay el w1, e, Al Al sl Ful
WHRUA B U51EUE Sl - o

dL. 30/6/202241 3oy # Wdlal WAL AL 31/3/2022 YellAL 5@ sl 60% & 5%
Sl A o e o 5 o o,
Bzl UL EIAL Bl AgAL A0S 2331 2ATAL H AL AL ARl o ,\
L #laow vwidq

. e win

I cer GNEs A

el AU et (A2 5L QS AL 3112202141 51 H=4

el -
z1El 4l 211,76.
Q2 1AEl Gl ' A (31/12/2020)
WA 421 A AL
LA AL
Az1A@ & AL WL ARl Al oA ©
sl AlzhA 4219l €3
6/3/2021 5%
14/3/202 4.5%
26/3/202 6%
10/4/2021
il 2431 2735 AHAR A

131 el FodMzel SRR As (@ A AL 317037202240 217 2L Ul A, (5L
51 Al Az 53

?
9,000
9.90,000
6,000
69,000
Ul 2,70,000
2] 1,05,000
Al Loy 2,00,000
(43527 5l 1,95,000
YsAde Gl - 81,000
WIUR-GL22L 5.,40,000
[Hetsd qHzsIH 1,35,000
ALl AL, ALY 1,00,000
211042 5l 1,80,000

5 P 1),



4.

XYZ [@BR8 ctl. 31/3/202241 Aoy 2ABEs5 Biob 2, A il surll, wh 33y 1A

HHIGL & :
[ Al ¢
[ S6A2 24 Bal
(1) ARSIESRAL GO ;
(1) W Hdl -
90,000 ‘@’ SEAZL AR €35 T 10l AdL, T 8 GRS 7,20,000
270,000 ‘o’ SGAZL AR €35 T 10-1L, T 6 GRUY 16,20,000
18,000, 10%-1L gz~ AR €35 T 100 Y3L GRS 18,00,000
2) [GiA-ug Bal:
(RA) ALGRLOLAL 8L :
8%l Bol=0R 9,00,000
(3) ALY Bdl:
(RA) dURL 8l :
ARIERL 7,20,000
() A4 A gl :
Ars AUARSI52 3,60,000
Rtz ouisl uey 72,000
URSIRL R YsAdl-L oSl (USEL 12 HRiA) 45,000
§IHE 1R, At A WUR (UBEL 4 HIRA) 2,70,000
se 65,07,000
1. Mesdl:
1) G- Mesd :
) sl Hesdl ;
(i) e &5l :
of | A H1H 9,00,000
2 2 Y3l 22.50,000
() 2 [Gi4-ug sl :
s g 14,40,000
) A RMasd :
(1) HIE URERI : 2218 4.50,000
(0)) QU] AR : BAUEIRL 11.97.000
(5) RASS A ASS UHIA - As¢ 2.70.000
34 65,07,000

14

DG-103 6



[RER2R A8l Guaell eirll Riasdi-l vl Buardl 5% (ar3lld-HsidAL 2Rl Udd) 244
wiga(lr1 ARIERL Rttt Biriaid ARERIA Y5ad 353-AL 1% AW 5[l AN S5ER B.

Ges 2AlcARl52 Y HA- M5 AR YR(EA B 244 AL T 9,00,000 Guort. ousl-l Fasdil AR

HoYoL U -
¢
-2 - He (1Rl 18,00,000
215 5,40,000
ISR 8,10,000

RIGRa w2l T 1,41,300 220l RGN ol or Brasdl dl. 1/4/2022-41 ey R0l el 21
oytoigIFlRAl A o Bl Ygell el Neret AR ur A 2l RS gy 42l
Q32 [S10Al Btz Wols dUR §3L.

AYll
(A) BN Sull Ruod 2 iR Brriamd 3 T 75,000 ey @ Gurict R gl el
YsAAUA Sl : 7
(i) Seal AUslA auAl ¥ARME ARl Z 1,500
() ol 2wl dARIERL Z 3,000
(i) [RRs23-l 5l Ysaau-l cusl Z 2,250
(iv) €521 5RAML AIAE SIHERIA 00l @l AR ANl WIUR % 4,500

(v)  sHAURL A2 L AovL 360 Seall ol bl ygaatsi 81 (R 32,400
QAL T 1,500 + 2UBHL LT 900)

(vi) Ol 51RgAAL SEl QL ML WIR % 30,000
Buz-l (1l u=adl (i) Ts(ERRE Rl (i) [Girt-uemd gl ALl

(B) ABC RIBRs-L QiER2: WAl (gr-u ARéleszA Ysaull sul olig) T 16,80,000 ASS €1

W 8. $urll SEIZL AR, v R Hored 6 7
S WAl | SEd2) A=A 2l A= SE32l Azels
USR vy eldlRs BHd ?) | RS U ()
A 20,000 100 75
B 15,000 75 60
C 10,000 50 35
D 30,000 10 5

(5921 ARELESRA YR SRl 42 ULl 6 LKL

5. AR [dseu vie 531 : (sluRL ULd)

(1) ARIA ARARAL USLUESL S1A A 1 21 2 N
(a) MR clfelRl (b)  ALR 2=AWE Su-l
(€)  SL i Wil ARDPLEAH (d) vl usiuA
DG-103 7 P.T.O.



(2)

(3)

(5)

(6)

(7)

(8)

(9)

(10)

(I'1)

(12)

DG-103

25 451l 3 AL wIlEL w12 el HUS urell wadl e ;

2Us1ael HSL 2 9,62,500 UG ANARALER 12%, U1 51 T 1,40,000.

(a) 73,500 (b) T66,000 (c) T76,000 (d) ¥1,15,500
sl se Bieisdl 2 14,40,000, &4 T 8,00,000 2 VUBA ANARAL €R 12.5% ©.
AW 133181 AL T 92,800 Sl AR HSl5t A&l lREL WELS] 2Lk,

(a) Z1,02400 (b) ¥1,28000 (c) 80,000 (d) ¥1,16,000
Sl DrelL HeuisA Wiz Al FHasdl A8 AARAls FHasdl 58 [BHd 1L

A1 £5 9

(a) “AMR [5Hd (b) A3 BHd

(c) ¥ Bud (d) Gzl AsueL ¢l

R Bis fudlet £Ga7] 2zl vl Bud T 525 Sl 24 -l oo (et T 490081 dl
Al wcxs By <4,

(b) T 580 (¢) <500 (d) .T560

(a) < 680
Gazl dz-l vonz Bud 2 500, (RS- 637 80% AR ARels GRWY

Mg SYAlAL &
Z 100 ¢ 11l AUEA ddz-L 63 $26l ?

(a) 15% (b) 10% (c) 12% (d) 8%
35 Olrgedl [iri-Geules Biasdl W 4N e3BUAT 5,005,000 <oy AR UAA 6, sl

7 1,00,000 oy IR HOAE 6. 48 Hi2 vl becll Bl Aus 2dg 21Ul ¢

(a) % 4,00,000 (b) ~%:6,00,000
(c) % 1,00,000 (d) AsveL €l

{3 sula Biasdmial 58 Fasd U5 siel WHISL ols BRieL @ailsgrdl

UHLAAHL ALl A&l ?
(a) M Heasd
(c) Ol Measd
G013 ALUA 252 UHISL € A Glrs WletirAl ARl

ool v @8 ovell A
(a) 25% (b) 15% ©) 20% d 10%
B2 SlesA Ysanll sul wesl (@632 WA T 1,85,400 jss Rats 6. G vamd

ARERIA st M R [AGA323A 3% HSAAURL Y5AUUA 8. (G UM AQERIA

Ygaialtefl REHAl 20GURL 531
(a) %5400 (b) ¥1,80,000 (c) T1.90,000 (d) T 1.85.400

A2 565 AL YAEAL ARIERIMHL ML Ul &l ?
(a) WsRALARL (b) &dlgsl (€) SR§HIWIR (d) WlAs-2 88
UR 5RE Beall o HSAAL, §35 HIRS WIR T 15.000 AW sl «iusl 8. dl

(1o duid dHill Y4edlHL ARIER] 32al U ¢
(@) ¥1,20,000 (b) T80,000 (¢) T1.80.000 (d) T 60.000

(b) 2l Masd
(d)  UoRel-sS Mesd

o2l REH AHAMA




Seat No. :_2 \ Zq 9

DG-103

December-2022
B.Com., Sem.-II1
SE-202 (A) : Corporate Accounting
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. The following is the Balance Sheet of Hanie Limited as on 31/3/2022 : 14

Particulars Note. ?
l. EQUITY AND LIABILITIES :
(1) Shareholder’s Funds :

(a) Share capital :

Equity shares of ¥ 10 each, fully paid-up 6,25,000

10% preference shares of ¥ 10 each, fully paid-up 5,75,000
(b) Reserves and Surplus

General reserve 2,00,000

Profit & Loss A/c 1,00,000

(2) Non-Current Liabilities :
(a) Long term borrowings :

15% debentures of ¥ 100 each 6,25,000
(b) Long term provisions :
Provident fund 1,00,000

(3) Current Liabilities :
(a) Trade payables :

Creditors 4,85,000

Bills payable 20,000

(b) Other current liabilities : Outstanding expenses 7,500 |
Total 27,37,500

'II. ASSETS :

(1) Non-Current Assets :

| (a) FixedAssets :

(1) Tangible Assets :

Land 5,05,000 |
(-) Depreciation 25,000 - 4,80,000
Plant 8,65,000 |
| (-) Depreciation 1,45,000 7.20,000
Furniture 50,000 |
(-) Depreciation 12,500 | 37,500
(1) Intangible Assets : Goodwill | - 37,500

DG-103 9 P.T.O.
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(b) Non- tments : .

‘T:};ugent [;::HTsecuritieS (Investment against PF) 1,00,000

10; N :b":nme of Vipul [ imited (Face value X 2,50,000) 2’25’00@

(¢) Other ;On_ current Assets : Preliminary expenses 7,500!

: |

(2) Current Assets : |

(a) Inventories : Stock 3130’000!

b) Trad eivables : |

(®) "g;zfs 6,00,000 |

(-) Bed debt reserve 35,000 S,65,000§

Bills Receivables 1,10,000‘

(c) Cash and cash equivalent : Bank balance 60,000

(d) Other current assets : Prepaid expenses 15,0{}0j

Total 127,37,500

Additional Information :

(1)
(2)
(3)

(A)

(B)

DG-103

The present market values of land and plant are ¥ 7,20,000 and T 5,40,000 respectively,
while remaining assets are to be taken at their book value.
The market price of the shares of the company, doifig similar business and giving
dividend at 30%, is twice its paid-up value.
The profits of the company, after deducting tax at 50% for the last three years and
appropriate weights to be used are as under :

Year Profit X) Weight

2019-20 2,00,500 1
2020-21 2,11,000 2
2021-22 2,47,000 3

From the above particulars, you are required to compute the value of the goodwill of
the company on the basis of four years’ purchase of its super profits, calculated on
weighted average profits of the last three years.

OR
The following is the information from the firm : 7
(1) Total assets < 36,55,000
(i1) Total habilities < 5,95,000
(111) ~15% preference share capital < 3,40,000
(iv) < Average annual profit before distribution of dividend X 5,61,000
(V) _Expected rate of return 15%

From the above particulars, find out goodwill by capitalization of super profit
method.

C.alculate total assets of the company from the following details : 7
(l] Goodwill at 5 years® purchase of super profit T 2,62,500
(1) Average annual profit X 3,15,000
(fll) External liabilities < 7,00!000
(1v)  Preference share capital <3 50!0{}0
(V)  Expected rate of return | 15“"5

10
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2. The following is the Balance Sheet of Dhairya Limited as on 31/3/2022 - 14

. . Pevtioukins Note| ¥
| EQUITY AND LIABILITIES B T

(1) Shareholder’s Funds :
(a) Share capital
Equity shares of ¥ 10 each, T 8 per share paid-up

0% preference shares of ¥ 10 each
(b) Reserves and Surplus :
(General reserve
(2) Non-Current Liabilities :
(a) Long term borrowings :
10% debentures
(3) Current Liabilities :
(a) Trade payables :

Creditors

[I. ASSETS: b
(1) Non-Current Assets : 0

(a) Fixed Assets : '
(1) Tangible Asse |
10,00,000

Buildin
Furni 3,00,000
24,00,000
(b) ent Assets : | !
@mmm expenses ‘! 2,00,000
S |
Inventories = Stock | 8,00,000
Trade receivables ¢ |
Debtors 4,00,000
Bills Receivables 2.00,000
(¢) Cash and cash equivalent | Bank balance | 3.00.000
Total mSﬁ.Bﬂ.mﬂ

i
it T

= S - I B . 5 el - =
has. e P — W e e — S == T ws o L. T T T T = = e e i M TR Hr— B T M T il ol Bl R
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Additional Information :

(1) The present value of assets of the company is to be taken as double.

(2) The expected rate of return in the company’s line of business 13 10%.
(3) Goodwill of the company is to be valued at X 11,70,000. *
(4)  Average profit of the last three years after deducting tax at 50% is < 12,00,000. |

(5) The company has been transferring 25% of the profit after taxes every year to i

General Reserve account for last three years.

From the above information, find out the fair value of the equity shares of the

company.
OR

(A) Find out the market value of both the types of equity shares from the following
particulars : 7

(1)  Equity share capital :

A — 5000 equity shares each of 100, % 80 paid-up < 4,00,000
B 7500 equity shares each.of ¥ 100, fully paid-up < 7,50,000
(ii) 10% preference share capital 2 3,00,000
(111)  Average profit before 50% tax (including interest on
investments I 25,000) < 8,50,000
(iv) Expected rate of return 10%

It 1s atradition of the company to transfer ¥ 62,500 to general reserve every year.

(B) Calculate the intrinsic value of the equity shares of the company :

P

13,500, 6% preference shares of T 100 each fully paid
1,35,000 equity shares of T 10 each fully paid

External labilities < 2,25,000
Revenue reserve < 1,05,000
Fictitious assets < 10,500
Fixed and Current assets < 30,19.500

DG-103 12



5. Attempt any two : 4

-

S

- DG-103

Mr. Yogesh 1s a customer of Dena Bank Limited. While closing the books of
accounts on 31/3/2022, it was found that an unsecured balance of ¥ 11,25,000 was
due from him in his loan account. The interest was charged on the same amount at
12.5% p.a. for the year ending on 31/3/2022. The financial position of Mr. Yogesh
was found to be bad and doubttul.

On 30/6/2022 bank accepted 60% amount on account of the total debt of Mr. Yogesh
upto 31/3/2022 and settled his account. 5
Pass necessary journal entries of above transactions in the books of Dena Bank and
prepare following accounts

[ Mr. Yogesh's Account

[I. Interest Account

II1.  Interest Suspense Account

Following are some balances appearing in the trial balance of the'books of the Axis
Bank Limited as on 31/12/2021 :

Bills discounted < 11,76,000
Rebate on bills discounted (31/12/2020) < 16,800
Interest and discount received < 90,000
Bad debts < 12,000

Due date of bills discounted are as under :
Due date  Rate of rebate Amount of bill (%)

/3/2021 5% 4,38,000
14/3/2021 4.5% 3,00,000
26/3/2021 6% 1,75,200
10/4/2021 7% 2,62,800

Write necessary journal entries m the books of bank.

From the following particulars of Cosmos Bank Limited, prepare Schedule — 16
(Operating Expenses) for the year ended 31/3/2022 as per Banking Law :

3
Printing and stationery 9,000
Depreciation on assets 9,90,000
Revenue stamps 6,000
Sundry expenses 69,000
Administrative expenses 2,70,000
[aw charges 1,05,000
Interest on loan 2,00,000
Director’s fees 1,95,000
Rent and tax paid 81,000
Salaries and allowance 5,40,000
Repairs of assets 1,35,000
Interest on Fixed Deposit 1,00,000
Audit fees 1,80,000
13 P.T.O.



4. XYZ Limited went into voluntary liquidation on 31/3/2022. Balance Sheet on tha date

was as under S — 14

Particulars ~__Note. ¥

L. EQUITY AND LIABILITIES
(1) Shareholder’s Funds :

(a) Share capital : ;
90.000 ‘A" Equity shares of ¥ 10 each, ¥ 8 paid-up . 7,200600
2,70,000 ‘B Equity shares of ¥ 10 each, ¥ 6 paid-up 16520.000
18,000 10% preference shares of ¥ 100 each, fully paid 18,00.000

(2) Non-Current Liabilities :
(@) Long-term borrowings : |
8% debentures 9,00,000
(3) Current Liabilities : '
(a) Trade payables :
Creditors

7,20,000
(b) Other current liabilities :
Bank overdraft 3,60.000
Interest due on debenture | 72,000
Taxes due on government within 12 months 43,000

Wages due for 4 months for workers 2,70,000

—y—— — i —

Total 63.07,000
I[I. ASSETS : -
(1) Non-Current Assets :
(a) Fixed assets
(1) Tangible Assets :
| Land & Building 9.00.000

| Plant and Machinery

22 .50.000
(b) Other non-current Assets

Profit & Loss A/c

| 14,40,000
- (2) Current Assets :
(a) Inventories : Stock 4,50,000
(b) Trade receivables - Debtors 11.97.000
(¢) Cash and cash equivalent : Cash on hand :;?{)‘0{1{.‘3'

DG-103 14



The liquidator is entitled to get remuneration (commission) of 5% on net amount of all
assets realized (including surplus of land and building) and 1% on the amount distributed
to unsecured creditors other than preferential creditors.

Bank overdraft is secured by deposit of title deed of land and building which realized

% 9,00,000. Other assets realized the following sums :

?
Plant and Machinery 18,00,000
Stock 5,40,000
Debtors 8,10,000

Liquidation expenses were ¥ 1,41,300. Liquidator realized all assets on 1/4/2022 and
discharged his obligations on the same date. Dividend on preference shares were in arrears

for two years.
Prepare liquidator’s final statement of accounts.

OR

(A) There were unsecured liabilities of I 75,000 in the books of company, when it was
resolved to wind it up. Besides, the following were also payable : 7

(i) Municipal taxes for last financial year < 1,500

(ii) Sales tax payable before two years < 3,000

(iif) Director’s fees outstanding < 2,250

(iv) Leave wage of last three years of employees who are relieved < 4,500

(v) Amount payable for last two years under ESIC (31,500 for < 2,400

previous year + X 900 for year before P.Y.)
(vi) Two clerk’s salaries for last 3 months. < 30,000

Find out (1) Preferential creditors (i1) Unsecured creditors.
(B) The liquidator of ABC Limited has (after paying preference shareholders) cash on

hand ¥ 16,80,000. The equity share eapital structure of company is as follows : 7
Type of equity | No. of equity | Face value per Paid-up per
share share equity share () | equity share (%)
A 20,000 100 75
B 15,000 75 60
C 10,000 50 35
D 30,000 10 5

Find amount to be returned or called from equity shareholder.

5.  Seleet correct option : (any seven) 14
(1), “Whichof the following institutions will have no goodwill ?
(@)~ A public library (b) Chartered Transport Co.

(¢c) Dr. Mehta’s private nursing home (d)  Private publication

(2) Calculate goodwill from the following information on the basis of 3 years’
purchase of super profit : Capital employed ¥ 9,62,500. Expected rate of return is
12%. Average profit is ¥ 1,40,000.
(a) 73,500 (b) 66,000
(c) 76,000 (d) < 1,15,500
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(3) Total assets of the business are I 14,40,000, liabilities ¥ 8,00,000 and expect?lt:}
rate of return is 12.5%. Annual average profit is ¥ 92,800. Value of the goodw!

on the basis of capitalization of profit will be :
(a) ¥1,02,400 (b) ¥ 1,28,000
() 80,000 d) ¥1,16,000

(4) While calculating net assets for company’s share valuation purposc

assets are valued at :
(a) Market value (b) Book value
(¢) Face value (d) None of these '

(5) If the fair value of equity share of a company is ¥ 525 and its market value 18

< 490, then the intrinsic value of share 1s .
(a) 680 (b) ¥ 58
(c) 500 (d) T 3560 |

(6) Market price of equity share of a company is < 500 and rate of dividend 1s 40%.
If equity share of Z 100 is fully paid, what will be the rate of expected return ?

(a) 15% (b) 10%
(¢) 12% (d) 8%

(7)  On the non-performing assets of a bank, intefest of ¥ 5,00,000 is accrued during
the year, out of which interest of ¥ 1,00,000 was actually received. How much
interest will be recognized as income of the year?

(a) T4,00,000 (b)-. £6,00,000
(¢) < 1,00,000 (d) None of these

(8) Which of the following asset is not'included in the classification of bank

advances as per Banking Aet ? *

fictitious

(a) Loss asset (b) Standard asset
(c) Mortgage asset (d) Sub-standard asset
(9) As per Banking Regulation Act, bank has to transter of profit to statutory
reserve fund account every year.
(a) 25% (b) - 15%
(c) 20% (d) 10%

(10) The liquidator has a cash balance of < 1,85,400 after paying to the debenture s
holders. 3% remuneration is payable to the liquidator on the amount paid to
unsecured creditors. Calculate amount payable to unsecured creditors.

(a). < T5,400 (b) < 1,80,000
(¢) 1,90,000 (d) 1,85,400
(11) Which of the following amount is not included in preferential creditors ?
(a) Tax of government (b) Bills payable
(¢) Salary of clerk (d) Provident fund

(12) Salary of four clerks is monthly X 15,000 each, which is outstanding for last two
months. How much amount would be considered as preferential creditors at the
time of liquidation ?

(a) ¥1,20,000 (b) 80,000
(c) 1,80,000 (d) 60,000
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